Q. 6. (a)
(b)

©

distributed among her husband, her mother a@vo daughters. The husband got 1/4 , mother

(SECTION — B) ST

Find the area of a rectangular field whose length is 20 m and the length of its diagonal is (5) =
25m. o0 i

A Crow travels 5 km due South, 3 km due West, 4 km due North and 2 km toward South- (5) ~
East. How far is crow from its starting position? ) > A

Three persons, Zain, Ali and Umar started a bussiness with Rs. 156;000;°Rs. 190;6668-and Rs. (5)

\A 120,000 respectivily. Zain manages the bWMMS (160 OOO for

this management. After \é_ months Ah withdraws Rs. 90,000 and bussiness is cIosed er_g
months. What did each receive in the pr profit of Rs. 580,000.

Mst. Razia Begum died leaving behind her property of Rs. 802,500 which was to be (5) (20)

PR
"'t' | -/6 and remaining for 2 daughters. Rs. 7500 was spent on her burial. Find the share of [ q
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GENERAL KNOWLEDGE-I (GENERAL SCIENCE & ABILITY)

Q.7 (@

P |

(d)

In a certain country, 7% of the total workforce is employed in tourism. 24.4 million (5)
overseas visitors came to this country in 2014. 2014 was a record year for inbound
tourism. This level of visitors was 3% higher than in 2013. It eclipsed the previous
record of 24 million visitors recorded in 2008. In 2014 the average overseas visitor
spent US$ 110 but average daily spend per visitor in 2013 was US$ 60 while in
2014, it was US$ 76.20.

What percentage increase in daily average amount spent occurred between 2013 and 20147

How many visitors came to this country in 2013? (5)
What was the approximate percentage increase on the previous record number of visitors? (5)
If there are 30 m people employed in this country’s workforce, how many work in the (5) (20)

tourism sector?

The sum of two numbers is 48. If the smaller number is one-fifth of the larger ()
number, find the two numbers. [7 4_ A se AT A/
Find out the correct word from the Jumbled spellings glven below. - “(3)

.~ TUPNRT, QERPSTEL LLARIVTTQUE, DCAAOOY, ANAISSSOITANS

A sphere of diameter 26 c¢m is half filled with honey The honey is poured into a (3)
cylmdncal beaker of diameter 16 cm. Find the depth of honey in the beaker.

The breadth leng’(h and hellght of a room is 14 feet, 20 feet and 10 feet respectively. (3) (20)
There is also a door of room having height 8 feet and with 5 feet. Two windows of 4

feet by 5 feet are also there. The cost of paint and labour inside room is Rs. 100 per

square foot. How much will it cost to paint the inner walls and roof of the room?

.
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Write the final answer in the form of statement 
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